Problem Seminar: Part of the synthesis of (-)-mesembrine
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OH 2 two products
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(3:1, the
seperation is done
after the next step) e -

1.2 M HCI-THF
2. TBSCI, ImH, CH,Cl,

(ImH = Imidazol)

0]

Z/E = 82:18

0.06 eq. PhSH, AIBN
2-methoxyethanol
115°C, 24 h

*

PhS

transition state

- Which diastereomer (E/Z) leads to the final product?
- Which diastereomer reacts faster?
- Why is AIBN and thiophenol added to the reaction mixture?

MeO

The upper part is for warming
up - it will not be dicussed
unless we have some time left.

1. DIBAL, toluene
2. MsCl, Et3N

Ms = mesyl

(@]
OH
The seminar starts here

70%

N o

(-)-mesembrine

a) the 6 steps can be solved on a seperate sheet which will not be
discussed in the seminar




Final 6 steps of the synthesis of (-)-mesembrine

extra sheet

This sheet will not be part of the seminar

Wittig-reaction

1.0 eq. DMDO
acetone, -78°C

A

3 steps
MeO
OMe
(-)-mesembrine
N 0]

P(OMe)s, i-Pr,NH
MeOH, 20 °C, 12 h





